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And there is no giving less than the value of a P’rutoh

OVERVIEW

The X773 cites a Xn>72 wherein there is a dispute how much 72170 a person needs
to eat in order to be liable to pay back (the wn1m 17p); the P"n maintains it must be
a M1 (since the 7N writes' WP 298° *3 wRY and 799K is N°133), while 2Rw Rax
maintains that it must be a 70119 MW (since the 77N writes W7 DR 1797 100 and
TUIND MW Mnd 12°N1 PX). Our Moo discusses the ruling (of 2w XaX) that when it
says N1 (771°N1) it means at least a 772 MW.

- 209598 25057 DIV NN 1999 NY 333 329
And even the 33137 do not argue with Xw Rax that 5™wn nnd 7101 PR, they

nonetheless require a n°1> only because it says 79°2R8; otherwise they too agree that X
9"YWwn NINd AN

nvoIn asks:
= 9997 NN NIVID HNN NVNT (3,197 97PNy 12 NP RN 9NN ON)

And if you will say; but we have an established rule that one kernel of wheat

which is set aside for 7170 exempts the entire heap of grain from the requirement of

setting aside additional 717N -
ArAh b *25094 713503 12 25097 2 Yy N

Even though that regarding 7110 the term ;72°n1 is written; as it states 2 1nn —

mooIn cites other examples where the term 72°N1 is used and nevertheless there is no requirement
for a nvI7L:
= 11099 NIY 12 PRY 29 DY OGN 992 123D 9N (x,1n xy>sn xa3) 3NN
And in 27777 P19 the X723 says we can acquire items through 1°9°%n 117 with a
utensil even though the utensil is not a ''Y; this is so -
= 19997 1NN 29057 2) UY 9N

! 2,30 (MR) XpM states; WP NN 1392 103) 19V INWnD A02) AR WP 22K 02 UK.
2 Therefore even if it is not a 9", nevertheless he is 217 if he ate a n"12; or alternately even if it is a 9", he is not
211 unless it is a n*12. [From the X713 it seems the reason the 2°121 do not require a 5™ is (not like N1BOIN states
because 7777R is written, but rather) because the word 1011 (from where 91RW XaR derives the need for a D) is
necessary to teach us the requirement of a w7 N7 "IRIT 727, (see 17 17"7 32 wIn K and TIE next X177 77 "0
footnote # 2.)]
dam (D°voWw) 0127 states 17 10N "3 7337 NwRA. There should be a requirement that one be w*9n at least the value of
a 7o for IM1N; why is one 7vn sufficient. See ‘Thinking it over’ # 2.
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Even though that regarding 15°%11 1°1p the 109 states;4 IYaD I —

Another example where the term 712’01 does not require a 5"10:
- 2152999 225097 23 YY N AW ININ SNTIN IY 13N (x5 97 poon) 19PN 333 0 22N

And also regarding a v3; the X7n2 states, if he wrote the ) on something which
is 783772 770K the 13 is w3, even though it is written 7772 1n1!°

N1B0IN answers:
- 'PMIYUNN KPP NPNIT NOIID MY 1953 INT XINT MY YW

And one can say; that here by 2170 "m%wn a 2''w is certainly required, since

the term 572901 here is referencing the payment -
= 11099 NIYN NN PRY N9 NAWN 19 MM

So it is like returning a stolen object, where there is no requirement to return it,

if it is less than a "' -
= NIVYN NINI 929V ¥IYN 1NN 22NIT OIVN "Ny

And therefore since Jn1 is written (regarding payment) it properly indicates a

substantial returning meaning at least a "W -
= 1099 NIV 122932 XY NN 112 29N9T 22 HY 9N 090 INVY YaN

However by the other cases even though the term ;72301 is written by them, they
do not require a 5''Y, since the 7°n1 there is not regarding payment.

To summarize; the term 711°N1 requires a 5" only when it is regarding giving a payment, but not
when it is merely ‘giving’.

mooIn asks:
- 59792 97 Yy 9N  Fakd S‘WJM (3,7 97 HIN2922 YWINT DTN 2297 PHYY 99%24Y VP HINM

However the '’ has a difficulty; for 777177 '3 expounds in NS> Noo»n the P10
of =21 %» un»» > "wX1 (and whoever places from it (the nnwnn 12w) on a

stranger) that it must be a 113 in order to be n13 277 -
- 7129909 NN NI 999N

And he derives it through a mw 77°7 of 72901 702 from 32903 NvoIN asks -

1,7 N1 states; X2 ATIWAT DRI YD 102) 1231 WX A2W 127 92 20ph 1mRa DY) A9 DY DX 0°19Y DR
% X,72 (X¥N) 037 states; AT22 102) NN 9D A2 A0I).
6 Why is it that by these three cases of 1"9°211 ,7217n nw19 and v (where the 105 writes 73°n3) there is no VIO
requirement; only by 7170 "m>wn.
Tt says WP DX 1797 101 (see footnote # 1).
¥ 30,5 (Xwn) Nmw regarding the 7nwnT 7AW states; 1HYH N3 I7 Y WA I WK
? It says 713°n1 both by 7210 and by Anwni 1w; just as by N there is a need for a n°, similarly by amwna 1w, one
is not 21 for placing it on a 77 unless it was a n°12.
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- NIV 992 AT XINY 13913 Y991 9959 1719193 NMIINN PI9ITNY
But instead of being lenient and deriving 7nwni 1w from 77290 that it requires a
n1>; he should instead be stringent and derive 7rnwni 172w from every other

mon1, where even a miniscule amount is sufficient for the 7103 -
- RINY 993 907 19501 X117 313 1) NYIY 1113 PRY MNNA 1NN DT JIN P9

For instance placing the blood on the 121 and placing of the blood and oil on
the thumbs of a y"x»n where there is no minimal amount required; and
additionally the 712°n1 with the anwnn MW is similar to anointing with anwn»a W,

where one is liable even with a @''3; so why should not >3 derive it from there?! n1o1n
does not answer this question."’

199V YNNX NINY D92 NN DNN INT INNID)
However according to the one who maintains there in N1n°73 that the 773501 of the
anWwNT MY on a T is 112 271 even for a w''s it is properly understood.

SUMMARY
71°n1 requires a 9" W only when it is regarding payment.

THINKING IT OVER

1. moon initially asked from the cases of 12°%1 ;770 nwao and v3; why a 5™ is
not required by these M1 n3; later MooIN asked why 777 " did not compare AW
anwnn to MNP 2°1»7 10n where there is no requirement for a YW (a n°12); why
initially did not mpoin also ask from MNA2Y 27 3pn, and similarly why
subsequently (by amwn) did not Mmoo also cite 1951 N nwHon and Wi that
there is no minimal requirement?"?

2. Regarding mooin first question;” can we differentiate between exempting the
"> from 72170 (for which a 7un is sufficient) to observing the 12 1nn (giving it to
the 779) where perhaps a 8" is required?"*

10 Regarding 112°0, smearing the 7nwni 1w (not 7°n3, placing the anwna 1w) the P10d (in 29,5 [Xwn] Nnw) states, 7Y
79» X2 O7% ¥3; the word n3°n1 does not appear by this prohibition, indicating that one transgresses the 17 of [©* R?
even if it is not a n°12. It would seem proper to compare the 71°n1 of MWK MY to the 73°0 of AnNwni 1w (that it
should be X1 952 27n) rather than comparing it to 72170 (see 2"n).
' See xn27 7"7 8,2 70" MHOIN who explains that since the 71°n1 by Anwna MY is 7130, therefore since the 770 saw fit
(after it wrote 175°0) to write 712°n, this teaches us that a 729wn 72°n1 of a n°1> is required (like WP DR 1737 1),
2 See 0" and X"wn.
13 See footnote # 3.
' See HxMWY 727.
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